
Answer on  Question #42825, Math, Other 
 
Problem.  Let 𝐿 be a language given by 𝐿 =  {𝑎𝑛𝑏𝑛 ∶  𝑛 ≥  0 } , then 
𝐿2 is equal to 
a) { 𝑎𝑛𝑏𝑛𝑎𝑚𝑏𝑚 ∶ 𝑛 ≥ 0, 𝑚 ≥ 0 } 
b) { 𝑎𝑛𝑏𝑛: 𝑛 ≥ 0} 
c) { 𝑎𝑛𝑏𝑛𝑎𝑛𝑏𝑛 ∶ 𝑛 ≥ 0 } 
d) none of these.  
Solution.  
If  𝐿1 and 𝐿2 are languages over some common alphabet, then concatenation 𝐿1𝐿2 consists of all 
strings of the form 𝑣𝑤 where 𝑣 is a string from 𝐿1 and 𝑤 is a string from 𝐿2. 
The language 𝐿2 consists of all string 𝑎𝑛𝑏𝑛𝑎𝑚𝑏𝑚, where 𝑛 ≥ 0 and 𝑚 ≥ 0. 
Answer:  а) { 𝑎𝑛𝑏𝑛𝑎𝑚𝑏𝑚 ∶ 𝑛 ≥ 0, 𝑚 ≥ 0 } 
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http://en.wikipedia.org/wiki/Concatenation

